W H - R 2024/5/3+5/4 R RSBt/ LR 2/ R R I
BERA [HTTEIW SR O ROR TR S
B4 PRk B SRE B AR e FodR AT JURION
EEEIAY | AU S AR B A S (— W)Ul B 2 Rt SRR B A
B+ &E A 205 34 4L SHL 6L THE 8fiL
. Loom A0 B4 1093 (+1.4)|1LE BEA 11.09 (+1.4) [frE AR 1115 (+1.4)[FE B 11.24 (+1.4)[F L RA 11.27 (+1.4)|A0 At 1131 (+14)[fEK B34 1132 (+1.4)|fRE =B 11.54 (+1.4)
REBH R k33 [ET 1L T R el
. 200m A0 2% 22.16 (-1.2) [k 3} 2289 (-1.2)[#0 #1t 23.25 (-12)[dtm #E 2358 (-1.2)|#%E B3 23.60 (-1.2)[&H &% 2373 (-1.2)[sEA #EE 23.94 (-1.2) [T 24.02 (-1.2)
B R I R E=valin E=valin RN i35
. 100m Wi E— 50.75[msh  BA%E 52.80(#+ A 53.05(iipy 48 53.21|418 ERA 53.22|f1R #+ 54.4532M {5 56.18
REBIH vl RS T RS EERE E=valin
. 400m ®E EE 1:55.43| K F b 1:57.75|Md B 1:59.05|(kME B 2:03.81|#%H BA 2:04.98| &1 EA 2:07.17| k2 BE 2:08.07| T 2HEE 2:11.14
E=F Al GR|#@s1ilipkE E=valin L=t FER EERE i1 i35
ssian | 1s00m ®E EE 3:59.06| /i i3} 4:01.36 B His 4:1036[58 mK 4:1264|BE HER 4:16.11|kH FiE 4:16.55|/0% Rt 4:17.33|#% A 4:17.34
LSl GR|FH£#RE GR[@&IL AL RkE =R E=talin AL ALE i35
sian | s000m P B 15:18.30| &5 % 15:28.16|MfEH 1KE 15:28.37| kK B2 15:28.39| B4 B 15:52.21| AR (= 16:06.54| LA f&3} 16:06.59| U1l 2z 17:02.16
LSl FHARRE =R AL RkE FHERE RN AL ALE vl
sam | nomi W St 15.04 (-0.6) |3l 32 16.11 (-0.6) [l£lE1R  FE 16.49 (-0.6) 1A Z4 17.94 (-0.6) |8 KB 20.04 (-0.6)
EERE GR|=i2XiE =b=FS E=talin k33
san | a0omn I 59.99 (MR Fik 1:01.60|51% BIA% 1:05.01|#AF  H1® 1:05.45| R E% 1:13.61|/\eE  f&EE3L 1:17.10
i R Y E=talin R o
san | 3000msc P B 9:44.43|FH FXA 10:04.86|#4 Rttt 10:12.693R5T 32k 10:24.46|BR 4 10:44.92|lLF  3HBE 10:48.82| kA it 11:08.04
AL pE RN AL L=l FHERE i3 FHERRE
B 42.46| =2 K15 43.89|FasEes 4448|111y 44.62| T3 44.68| 8B 45.84 (B8R 46.23|7@#0L 46.37
wk B 5T f&+ HAE Wi Eh E&F 7 ER Bl K e EA HE X
5H3A [ 4x100mR |50 B& rE DB P EAER KI 2A a0 it wE 2k =M hE [ -PN: |
5t e Bk Sl RE BA N FE ORA TN B4 mAE A g BB KB 24
WA BA WF Hr F B 2% (-8 e R TRE  E= KT RIE G
ALk 3:28.31| B 3:30.14| =2 KB 3:35.75| FH& A 3:36.29 [1&1L 3:38.20 %@L 3:39.18| T 3:39.99|FE RS 3:43.24
KT E} myE EE H B LGN ZE -8 HE X it 7 FM R
5H4H | 4x400mR |{KE EH AE ERA ME &+ AT RIE KI BA Ee #% BE B U
MBS R} HF+ EK hE BEE a3 HE ORA WE L B B4 WF sheE
BE BEE Wi E— il k2 N EsL EE E RE EE ey i FE EA
[ - b e 1.80[@H %% 1.80| 5 saE 1.75
BEXIB FERIER 2EXIE
e e 3.80|mer K&, 2.00[MA #%¥ 2.00
5H3H ek
EEEME itk ERRE
[ — KA 155 6.60 (+1.0)[1E *= 6.46 (+0.6) [k 3t 6.37 (-0.6) [kt #E 5.99 (+1.8)|FEH hE 5.94 (-1.0)| iyt 5.80 (-0.3)[A#k ¥ 571 (-1.3)|K# =k 5.68 (-1.7)
EERIE KN PSR X (E23 S EERE g SR T
san | e By —H 13.49 (-0.2) |48 A& 13.40 (-1.0) |2 F 0t 13.33 (+1.9) [kt 8 11.90 (+1.0)|FEH# hzE 11.80 (+1.7)[kig Bz 11.60 (-0.4)|5% #®F  11.21 (+0.6)
e KN KN b (£23 EERE AR SRR
san | mwas Wt BE 13.19|@R 5 1257( ) 4K 10.32[Efh &K 1031|518 B 9.80|7A R 8.85[+i HEE 8.52|mil Bk 8.14
RS KN EERE ALk T [=)=-25 5 ey foged
san | mas R 5 34.24| /13t B 32.63[MA  HEAE 31.80|AMH :HE 3171|EE # 29.82|FHA 4R 16.93
EEEME b £23- PSR X (E22 =10 RN
RAE B 43.32|@% 20725 B 19.77(BsF ik 19.40|16K AT 11.80
5H4H | roe—$
[0 &ER =EXIE BEEXIE FAEEES
[ JIES =7 47.33|%  EKER 4534| BT whEE 43.99|Hil B2 4329|5508 B 42.20|@% 42.16(MA MM 35.48|H1HE HX 30.64
EEEE BN AL R I fogsid LR AL AE




WA - 2024/5/3+5/4 FHR RSBt/ LR 2/ R R I
B4 | TR PR e b RO BOR RS
4 FHIE B ARGEB) A R LB FoEREMTE FREFACR
TR [ FBIT SRR B A S5 (— W)tk L e liarZd TERRE LB s
B+ &E A 205 3L 4L 5{L (A THE 8fiL
sHaH L0om [C i) 12.94 (-0.3)|FRE b 13.06 (-0.3) [USMH 5L 13.32 (-0.3) [ Ll #x2E 13.69 (-0.3) [z Tk 13.80 (-0.3)[&f v &V 13.87 (-0.3) (AR €A 13.92 (-0.3)[FE W% 14.09 (-0.3)
HEER I¥ FHERRE TR [ @A 1] Feyan
sH4H 200m E i) 26.22 (-0.1)[7%kE FHH 26.97 (-0.1)|ER EZ= 2772 (-0.D) =M 0LV 28.21 (-0.1)|IBH ZEU3E 2843 (-0.D|NEER 1A 28.48 (-0.D) |l ¥ 28.57 (-0.1)
HEER I =R AL FHERRE 31N fedd
. 1o0m =t E3IF 1:03.01(FE HAEE 1:05.04[BRR B2 1:06.29[171F RE 1:06.42(H)Il % 1:06.49|FfE i 1:09.85(Fhili #H4E L1178[@RE =% 1:14.59
HEER fed ERRE FHERRE fed] KRG ERRE FHERRE
sHAH 400 BROER 2:19.73|FHuF  EE 2:24.94\ R o 2:29.38|#H IR 2:30.80|471F RE 2:32.42|=+ {EF 2:3243|ETF KW 2:37.06[\.L0 fEiH 2:41.10
BAL A BAILARE AL =310 FHERRE R pail HEXE
. 1500m [INminy s 4:42.86| % MBI 4:42.90|HH  —f 4:4861|FH FHE 4:56.30(#8H iR 5:10.57||®TF KH 5:14.52|@E == 5:47.56|18R REF 6:15.93
AL AL AR AL FHERRE [N @A FHERRE k33
sian | s000m [Ifmin e 10:21.96|FHh  —fi 10:22.40|#84K 1t 10:34.23|FH  #E 10:59.54| 18R KREF 13:40.97
AL AL AR AL FHERRE i3
SH3E 100mH] R R wl4.60 (+2.1)| s AxE w16.92 (+2.1)| LR K wl7.34 (+2.1)|RE €2 wl7.63 (+2.1) |4 ZFE wl7.69 (+2.1)|F & #HE wl19.13 (+2.1)|fE%E mME  wl9.76 (+2.1)|AE K w2048 (+2.1)
RERIER fed ik 33 H SRR EERE =2EXE S
saan | aoomi s BE 1:14.54|¥H BAE 1:18.24|f%E FaE 1:25.96
HEXE fed == >3 ]
B 51.44|FHERRE 52.89 |l 1L 53.35| &2 KE 53.81|FasEss 55.59| @40l 55.95
KE I ISE  ERE HfEH WE IR HE EKET HE BE
5A3H | 4x100mR |\l e LA BE RE TR BR EzE ER RE E 0&Y
I =E EE NER &R =H BAE KERE  SE3k SN T
Ui MR A #HE FH V&Y wE EE BE AR BT £®J
- BAL AR 4:20.41 | #2B 4:24.32| =32 K1E 4:31.17 %@L 4:31.41 | FHEARE 4:35.52 | FEEEE 5:05.17
WA P ELEC) ms BE =F B5 B #HE EK &
5H4AR | 4x400mR [\LO 4135 aE OEE IR HE R S BH %% ERORiE
B —fi PH BHAE =M ARE HE 0&Y BE %% BERE 3k
R ER =t ®%F R B S wF 1718 RE BE M=
TR WBE 1.45|8EM L5 1.30|mmE =%k 1.30[kE 22 13011 % 1.25
T EEXRB KRG i35 R 1R
FA B 1.25
EEXE
. =H BAE 3.10|AK  DiE 2.90| R ER 2.60|MRE 3k 2.50
5H3H bk
EEXE EEXRE EERE fick 5]
[T — S M wb.62 (+2.1)|Ht mE 5.22 (-0.2) |l hiEE 4.88 (+0.4)|F2 S 4.85 (+0.7) |14 D& 4.83 (-0.2) %3 @WH 458 (-0.N) 4B VLY 448 (-2.0) (5N ¥ 4.46 (+0.4)
RERER EEXRE AR @A =2EXIE 31 (1 @A
[ —— WA oiFE 9.73 (+0.6)
EEXE
sAsm | s A = 10.67|/878  #AE 735K LWHiE 7.02|HEH BE 6.82
31 EEXRE HEER 310
shan | mme A = 29.95|HH L+ 21TTIHKE LWHTE 26.99|JIl = 11.05| A% #F 7.53
31N EEXRE HEER HEER fEER
=H HBAE 16.78|F A #E 14.11
548 | roe—f
BEXB EEXE
sAsm | v EH L+ 36.21 il B 23.92|EM BEEF 23.18|HEH WE 2167/ BER 21.24
BEXB HEE PR I EERE

w (wind assist) : B EZ &




